A RERESRARD (FHM5F2AXKHKHE)

#h X | HEFEH B = &t BIAL AD
® L 169 164 148 312 0
5l— & =& 595 565 521 1,086 5
X & B 245 223 263 486 1
M 57 162 188 172 360 1
N 1,171 1,140 1,104 2,244 7
% M 162 164 156 320 2
it m # 87 94 113 207 1
BmoOom 117 122 133 255 0
= |F sl 93 96 92 188 3
= K 81 89 93 182 0
E 1R 59 68 69 137 0
|2 ey 203 160 178 338 1
BES1TEH 123 148 163 311 1
BEL2TEH 1 1 1 2 0
BEL3TH 84 106 123 229 0
/N 1,010 1,048 1,121 2,169 8
e = 47 46 47 93 0
ah ] 29 26 33 59 0
T A K 68 77 78 155 0
gl A w 26 20 33 53 0
& e 38 29 37 66 0
SCBIR1TE 243 292 294 586| — 6
5 [SCPR2TE 208 290 292 582| + 2
S(BIR3TE 229 286 276 562| + 1
S(BIRATE 263 288 324 612 — 5
S<L R @ 182 329 297 626| — 1
/N 1,333 1,683 1,711 3,394 — 9
& 295 341 335 676 0
3 A 20 18 21 39 0
w|F £ & 64 63 72 135  + 2
i Ly 325 370 375 745 — 2
H 3 & 456 453 530 983 + 2
NE 1,160 1,245 1,333 2578  + 2
XE1TEH 402 432 484 916 + 1
XKE2TEH 543 601 681 1,282 0
Xx=3TH 349 396 418 814l — 3
w|AE4TH 581 633 669 1,302] + 4
XE5TEH 127 136 130 266 + 2
/N 2,002 2,198 2,382 4,580 + 4
B 6,676 7.314 7651 14965| — 18

B B L 18 — 1 — 4 — 14 — 18




